-4

Circle the correct answer:
1) Joe withdrew $50 from the bank.

+50 -50 +100
2) The bank added $3 as interest.

+30 -3 +3
3) John ate 4 candies.

+4 -4 +8

4) Mary has grown 2 inches since last month.

+24 -40 +2
5) Susie lost 5 pounds.

+15 -100 - +5
6) 5 minutes before landing

+H -b +10
7) 20 degrees below zero

+40 -40 +20
8) 30 degrees above zero

+60 -30 +30

9) Jane was 10 points ahead
-10 +10 +20

10) Joe was lagging 10 points
+10 -10 +1

For more worksheets, games and other learning tools, go to http://www.ezschool.com
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Example: James walked 4 feet towards the destination,

-8
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